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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : _‘
' 1><1‘O=10

SR 2HART Be T g

(@) Define a null matrix.

o1 ¥y G Tl fordi |

Contd.



(b)

(d)

(e)
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de—(log x) =
(Fill up the blank)
(T A2 979 F91)

Evaluate (I9 @ 1) -
2 4 |
1o

If (IW) f(x)=x2-3x+5, find the value

of £(0), (CoT f£(0) I T F=A)

Evaluate (T-IH Rdfa =11) -

OV O T
= N O
o AN

Find the cofactor of -1 in the following
determinant :

e [Afare —1 3 i fAda ==t ¢

1 -2 3
2 0 5O
3 2 -1
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(g9 What is the value of 10C; ?

10C, 3 WF I 2
(h) Fill in the blank :

QT BT o7l o ¢

_d__(Tp) =
dx
where x denotes the volume of output.

TS x-9 TeAMS ANNF J&2Z |

(i) Fill in the blank :
A 21F sl ¢
The variables associated with linear
programming problems are called

(3T AP 7S GIT® HeTFHIRS
QI
() Define a sinking fund.

@B TS e et far |
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2. Answer the following questions : 2x5=10

o] 2XAIRY Ted ol ¢

(a)

(b)

(d)

Write two differences between matrix

and determinant.
CTETEF S Hass IR 707« ford

Evaluate (Rfg =11) :

. ol =1 .
Iim
x—0 x

If (3f) A{‘s 4],5:[1 2]
3 2 3 4

find (R =11) DA-3B

In what time will 1,250 amount to -

21,400 at 6% p.a.?

R TR WS 6% T Joe 1,250 T

{fase 1,400 5 B2
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(e) Find 10t term of the following series :

ol CEITICHIR WIS #meol &l ¢
3, =6, 12, 24 .............

3. Answer the following questions : (any four)
- 5%x4=20

o] [qrdren 5if<or e $el A s
(@ Show that ((1yedl Q) -
-a? ab ac

ab -b? bc|=4a?b3c?
2

ac bc -c

(b)) 1) A= [; ﬂ show that (C"T.‘s[\‘3ng @)

A% -3] =2A.

(c) A man saved Rs. 16,500 in ten years.
In each year after the first he saved
Rs. 100 more than he did in the.
preceding year. How much did he save
in the first year?
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T TR W2 IRS 16,500 5 Awq TR -
AN IR form &fSo! I]© cs\swnﬁaam
100 5= éﬁﬂmaﬁﬁ%lm{maawm
I B A%y FRfes?

(d} Find sum to n terms of the following
Series :

OF] (MO now *Mie ([T W /10 3

4 +44 +444 + . ........... '

(e) () 1f (3W) f (X)=-:—);, prove that

(&9 91 ()

1-x -
f(1+x)—x - 3

(i) Find (Rda =10) :

%x—’ if (3™) y:x-logx | ’2
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(f/ A person borrows Rs. 20,000 at 4%
compound interest and agrees to pay
both the principal and interest in 10
equal annual instalments at the end of

each year. Find the value of each
instalment. Given (1-:04)-10=0-6761.

GG AR TRE 4% b TR To©

Rs. 20,000 <5 &(A WE T AE TS
w25l (10) T IS e Wikt [eiiRe |
25051 TR 3R o M T Rl =11
i =g (1-04)-10 = 0-6761.

'Answ.er any four frofn the following :
' | - 10%x4=40

4. (a) Solve the following system of equation

by Cramer’s rule : S S
(TR} FEACIR 6@ ATFIR20! A4l I 8
2x+y+z=7
3x-y-z=-2

x+2y-3z=-4
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(b) Evaluate (%R Ry =) : 2
1 2| |-4 -1
3 4|7 | 2 3

(c) Construct a 3 x 2 matrix such that

aﬁs%zlcﬁawmwmw

21

A ‘ 3

5. (@) If x, y, z be the pth, gth and rth term
respectively of an A.P., then prove that

x(g-r)+y(r-p)+z(p-q)=0.
5

IM x, y, z TARA GO AN (AT p©T,
GO W& OV AN T, AN I

x(g-r)+y(r-p)+z(p-q)=0.

(b) Find the inverse of the following matrix :
- 5

el (T F(0IR Af oy ©feisar 3

1 0 2
A=12 -1 3
4 1 8
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6. (a) A machine depreciates every year at
| the rate of 10% of its previous value
and at the end of 4 years its value was

Rs. 1,31,220. Find its original value.

S

2 7% B! T Y TIBR B9 I T
10% I T 4 T GBS AR %7 1,31,220
T | TGOR S efg =

(b) Find x, y, z and ¢, if
X, Y, 2 9% t?Wﬁ‘fﬂ_W‘fﬁ

3xlry _| x 6+ 4 x+y
zZ X -1 2t z+t. 3

S

7. (a) A shopkeeper purchases' S50 dozen eggs
at ¥ 40 per dozen. Of these 40 eggs are

found to be broken. At what price
should he sell the remaining eggs to
make a profit of 5% ? S
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O (MBI S TEH 40 51 ZpIee 50 o
= ofe, or fSo3w 400 =N @@ 8 |
o8 P! T FNRR 2fS Toae [T [kl
TR (997 5% TS 772

(b) If 2 men and 5 boys can do half a
piece of work in S days and 3 men 4
boys can do one-third of it in 3 days,
then how many days will 9 men take

to finish it? | 5

T GBI IR W ] 2T WAE W 5T
'R 5 fMas o IO G-k 3T
TZ ANF 4T 798 3 fado 7 FRI AE,
(SCT 9T R fFam figs iR ot 13
IR difk@?

8. (a) The difference between simple and
compound interest on a certain sum of
money for 3 years at 5% p.a. is
2213.50. Find the principal, simple

interest and compound interest. S
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(I 01 JEALE 82190 IR 5% Y@ 3 I
e O OIS bagiam ok SN 213.50 5
T SEIH, R S % 5@ o el T4 |

(b) A company is considering which of the
three methods of production it should
use in producing three goods A, B and
C. The amount of each good produced
by each method is shown in the

following matrix :

A B C
Mecthodl [4 8 2]
Mcthod2 |S 7 1
Mcthod3 |5 3 9

The column matrix [10 4 6] represents
the profit per unit for A, B and C in
that order. Using matrix multiplication,
.ﬁnd which method maximizes total
profit. , S
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51 @it fofRfy A A, B9 C
Bl R AN R T (PIes! 2
AT B 93 RIw e SR wng| afsw
AT @kl Ceoliv 391 AfSRy ANTR ©Y
R GIEFH0e (MYeA (2R ¢

A B C
'?‘-;‘W'G'E]‘hll (4 8 2]
g2 |5 7 14
a3 |5 3 9

T CTeF [10 4 6] 9 AN A, BEF CI
dfo @I o[ (ZR e ARTAT TR
cﬁwoﬁmﬂm—@maﬁmmﬁm
s SKifgs 7' [efa 311

9. (@) Find the.differential coefficient of /x

‘using first principle. | 5

SN IR IR [ I ST eofics FefT
4|
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. , {
(b) Show that the maximum value of X+ p

is less than its minimum value. S

. . |
e @ x+;aﬂﬁ%m3ﬂﬁaﬁ%w
A% |

10. (a) Find (1 average profit function, and
- (ij) marginal profit flinction_ for the

following total profit function (P) : -
P=02-120+50 | |
Evaluaté them at Q=5. | i 5
TR I TS T (P) FAATT (i) 5T 1S Toi,
i (1i) 2T e Tow ofenedl 3
P =Q? —‘12Q+50
Q=5 TT G e A= AT ey AR
e 711
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(b) The marginal cost (MC) of a product is
MC = 3x+ 4, where x denotes output
and the fixed cost (FC) is known to be
10 units. Find the total and average
cost functions. 5

Ry AR 2AfEF IJI MC = 3x+ 4 9% 1
P (FC) T 10 GFF | xQ AW ANTR

G FRYIT JERR | Jo T T O S I
T AT w11

11. (a) Solve the following LPP bjr graphical
method : _ 6

o9 LPP (51 (AR siafors ANYl 341 3
Maximize (5SS = [T 1)
z=3x+3y |

subject to (TEF TF] ANATTF)

2x +y <1000

x <400

y <700
x,y=20
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(b) State four uses of LPP in Business. )
4
Jifdere talie d@uer vIfRtl IR SrE 4 |
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